
 Today’s Number 1. Simplify       2.  Factors 

3. Geometry   4. Measurement   

5. Product/Quotient  6. Place Value  

7. Decimal 8. Fraction  

9. EOG REVIEW 

140            _____ 
           100 

The world record in the long 
jump is 29 ft 4 ½ in. How many 
inches short of 10 yds is the 
record long jump? 

. 

Divide 84 by 10 

A piece of webbing is 2  2/3 yd 
long. Drew needs 3/8 of the 
webbing to make a climbing 
harness. How much webbing 
does Drew need to make the 
harness? 

Mark buys 7 baseball cards for 
$2.19 each. How much did he 
spend on all 7 baseball cards? 

Evaluate:  5 + [ 9 x ( 6 + 8) ] ÷ 2 

True or False: 
 A parallelogram can be a 
rectangle. 
 
Explain your answer! 

During his vacation Doug took 
3,145 photos with his digital 
camera. His vacation lasted 17 
days. How many photos did 
Doug take per day? 


